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AƩempt all QuesƟons                                                                                                             Marks:20 

 

 

Q1. A force field is given by �⃗� = (2𝑥𝑦 + 𝑧ଷ )𝚤̂ + 𝑥ଶ 𝚥 ෝ + 3 𝑥𝑧ଶ 𝑘෠  determine whether is it 

conservative or non-conservative?                                                                        5 

Q2. State and prove work- energy theorem.                                                                5 

Q3.  For a force field  �⃗� = (𝑦ଶ − 𝑥ଶ )𝚤̂ + 3 𝑥𝑦 𝚥 ̂. Compute the line integral from point (0,0) 

to the point (𝑥௢ , 𝑦௢) along the path made up of two straight sections (0,0) to (𝑥௢ , 0) and  

       (𝑥௢ , 0) to (𝑥௢ , 𝑦௢).  Compare with result you get by taking the other sides of rectangle as 

the path of integration.                                                                                           10 
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